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$240,000 x 8% x 60/360 = $3,200 for each alterna tive.
(1) $240,000 simple-interest note: $240,000 proc eeds

(2) $240,000 discounted note: $240,000 — $3,200 in terest = $236,800 pro-
ceeds

Alternative (1) is more favorable to the borrowe  r. This can be verified by com-
paring the effective interest rates for each loana s follows:

Situation (1): 8% effective interest rate

($3,200 x 360/60)/$240,000 = 8%

Situation (2): 8.11% effective interest rate

($3,200 x 360/60)/$236,800 = 8.11%
The effective interest rate is higher for the secon  d loan because the creditor
lent only $236,800 in return for $3,200 interest ov  er 60 days. In the simple-

interest loan, the creditor must lend $240,000 for 60 days to earn the same
$3,200 interest.
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Accounts Payable.........cccooo 60,000
Notes Payable...........cveieiiiiiiiiiiies i, 60,000
NoOtes Payable .........cccooviiiiiiiiiiiiiiis i 60,000
INtEresSt EXPENSE......uiiiiiiiiii s e 200*
CaASN e s 60,200

*$60,000 x 4% x 30/360

11-5
Accounts Payable.........cccooo 44,550
INtEresSt EXPENSE.....uoiiiiiiiiiiiii e ceeeeiiiiies e 450*
Notes Payable...........cviieiiiiiiiiies i, 45,000

*$45,000 x 6% % 60/360

NOtes Payable .........cccooviiiiiiiiiiiiiiis i 45,000
CaSh . 45,000
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